
Codice
Code

WLL
(t) M x L

Coppia Max. 
serraggio

Max tightening 
Torque 
(Nm)

Peso
Weight 

(Kg)

R0721-20-0001 0.3 M8 x 12 8 0.12
R0721-20-0002 0.4 M10 x 15 16 0.12
R0721-20-0003 0.75 M12 x 18 25 0.2
R0721-20-0004 0.75 M14 x 18 30 0.2
R0721-20-0005 1.5 M16 x 24 60 0.35
R0721-20-0006 1.5 M18 x 24 70 0.35
R0721-20-0007 2.3 M20 x 30 110 0.6
R0721-20-0008 2.3 M22 x 30 120 0.6
R0721-20-0009 3.2 M24 x 36 195 1
R0721-20-0010 3.2 M27 x 36 240 1
R0721-20-0011 4.5 M30 x 45 320 2
R0721-20-0012 4.5 M33 x 45 350 2
R0721-20-0013 7 M36 x 55 585 3.4
R0721-20-0014 9 M42 x 65 920 5.7
R0721-20-0015 12 M48 x 72 1590 8.5

Dimensioni 
Dimensions (mm)

H B C D D2 F D1 CH

33.7 10 9.8 25 25.5 30 46 6
33.7 10 9.8 25 25.5 30 46 6

41.5 12.5 11.5 30 30.6 36.5 55.5 8

41.5 12.5 11.5 30 30.6 36.5 55.5 8

49.5 14.5 15.7 35 36.5 42 64.5 10

49.5 14.5 15.7 35 36.5 42 64.5 10

58 16 18 40 42 52.5 74.5 12

58 16 18 40 42 52.5 74.5 12

69 20.5 22 49 50 61 90 12

69 20.5 22 49 50 61 90 12

86 25.5 28 60 66 75 111 17

86 25.5 28 60 66 75 111 17

105 32 30 74 77 96.5 135 22

118 38 37 82 87 110 158 24

137 43 38 95 102 124.5 180 27

C

D2
F

CH

D
D1

B
H

L

M

18

Note: the device is not suitable for rotation during loading

R0721 Rotating eye bolt H.T. - 807X HT

Anchorage point for load lifting.

•	 Safety coefficient 4 in all loading directions
•	 Designed, tested and certified in compliance with the technical 

directives GS-OA15-04 – EN 1677
•	 Suitable for safe lifting in compliance with the machinery directive 

2006/42/EC
•	 Can be oriented at 360°
•	 Tested at 100 % magnaflux
•	 Tested at 20.000 stress cycles
•	 Ideal for fastening at 90°
•	 Captive screws
•	 On the axial pull there can be variation of +/-5° with a 10% decrease 

in capacity

Description:

Golfare girevole H.T. - 807X HT

Golfari
Eye bolts

Punto di ancoraggio destinato al sollevamento dei carichi.

•	 Coefficiente di sicurezza 4 in tutte le direzioni di carico
•	 Progettato, testato e certificato secondo norme tecniche                    

GS-OA15-04 – EN 1677
•	 Idoneo al sollevamento in sicurezza secondo direttiva macchine 

2006/42/EC
•	 Orientabile a 360°
•	 Testato 100 % magnaflux
•	 Testato a 20.000 cicli di fatica
•	 Ideali per ancoraggi a 90°
•	 Vite imperdibile
•	 Sul tiro assiale è consentito uno scostamento di +/-5° con una 

riduzione della portata del 10 %

Nota: il dispositivo non è idoneo alla rotazione sotto carico

Descrizione:



Cod.

R0721-20-

M
 x

 L

Numero 
di bracci
Number 
of legs

Direzione 
di Carico

Load 
direction

1 0°

2 0°

1 90°

2 90°

2 0 - 45°

2 45° - 60°

2
assimm.
asymm.

3 - 4 0° - 45°

3 - 4 45° - 60°

3 - 4
assimm.
asymm.

0
0

0
1

0
0

0
2

0
0

0
3

0
0

0
4

0
0

0
5

0
0

0
6

0
0

0
7

0
0

0
8

0
0

0
9

0
0

1
0

0
0

1
1

0
0

1
2

0
0

1
3

0
0

1
4

0
0

1
5

M
8

 x
 1

2

M
1

0
 x

 1
5

M
1

2
 x

 1
8

M
1

4
 x

 1
8

M
1

6
 x

 2
4

M
1

8
 x

 2
4

M
2

0
 x

 3
0

M
2

2
 x

 3
0

M
2

4
 x

 3
6

M
2

7
 x

 3
6

M
3

0
 x

 4
5

M
3

3
 x

 4
5

M
3

6
 x

 5
5

M
4

2
 x

 6
5

M
4

8
 x

 7
2

1 1 2 2 4 4 6 6 8 8 12 12 16 24 32

2 2 4 4 8 8 12 12 16 16 24 24 32 45 64

0.3 0.4 0.75 0.75 1.5 1.5 2.3 2.3 3.2 3.2 4.5 4.5 7 9 12

0.6 0.8 1.5 1.5 3 3 4.6 4.6 6.4 6.4 9 9 14 18 24

0.42 0.56 1 1 2 2 3.22 3.22 4.48 4.48 6.3 6.3 9.8 12.6 16.8

0.3 0.4 0.75 0.75 1.5 1.5 2.3 2.3 3.2 3.2 4.5 4.5 7 9 12

0.3 0.4 0.75 0.75 1.5 1.5 2.3 2.3 3.2 3.2 4.5 4.5 7 9 12

0.63 0.84 1.6 1.6 3.15 3.15 4.83 4.83 6.7 6.7 9.4 9.4 14.7 18.9 25.2

0.45 0.6 1.12 1.12 2.25 2.25 3.45 3.45 4.8 4.8 6.7 6.7 10.5 13.5 18

0.3 0.4 0.75 0.75 1.5 1.5 2.3 2.3 3.2 3.2 4.5 4.5 7 9 12

F

19

R0721 Rotating eye bolt H.T. - 807X HT
Golfare girevole H.T. - 807X HT

Golfari
Eye bolts


